Bit = binary digit
Number base = -+the number of
unique dis'rl-s used +0 represent vaiues.

You are probably mos+ Familiar with +he decimal number system,
where numbers are ropresented with base-I0.

There are 10 unigue numerals used +0 represent values.
Each digit is 10 +imes more sisni#icam than +he previous digit.

@12893BTBAY * 1o digits

The hexadecimal system is base-lb. O 2@%5@7 Gﬂ ABRGCDECE
The octal number system is base- 8. 00289367

The binary number system is base-2. 01
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sixteens eights fours +wos Ones
place  pace place Pplacc  place

yA 23 2* 2' 2°

We can denote +he number System we are using by including the base as a Subseript:

lOOz |OO'D |008
Convers binar\, to0 Decimal " conver+ Decimal +0 —Si;\-a;, -+
|
0101010 | 85
Start from the riﬁh‘h (@ Divide by 2.
| o 20 = | t @ write down the remainder.
0 « 22 =0 @ Dpivide +he result by 2 and repeat.
| o 22 =y Record +he remaindecs from riﬁhl' +0 |eft,
° 3 -
0 Zq =0 85/ 2 = 42 Remainder = |
e 25 = 16 : 42/ 2 = 21 Remainder= 0
o - 2b =0 21/ 2 =10 Remainder = |
| 27 = by ' o/ 2 =5 Remainder = 0
0 « 27 =0 ' s /2 = 2 Remainder = |
The result is the sum of 4hese products. | 2 / 2 = | Remainder = 0
| /2 =0 Remainder = |
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